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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
nsS 13,021,185 12,166,567 854,618
= 164,020 125,000 39,020
& 1,060,000 1,060,000 0
= 300,000 0 300,000
= 696,440 569,601 126,839
Al 10,800,725 10,411,966 388,759
SsH0 HSWsSAMEIAXNA &8 6,401,161 5,846,043 555,118
= 39,020 0 39,020
S 696,440 569,601 126,839
Al 5,665,701 5,276,442 389,259
thsws ¢dd 29I/t =4 6,362,861 5,807,743 555,118
= 39,020 0 39,020
< 696,440 569,601 126,839
Al 5,627,401 5,238,142 389,259
ANUHBHA BXd 2283 X2 1,549,537 1,382,621 166,916
< 276,173 248,444 27,729
Al 1,273,364 1,134,177 139, 187
307 21201 & 1,549,537 1,382,621 166,916
< 276,173 248,444 27,729
Al 1,273,364 1,134,177 139,187
09 2+=HAHEXS 1,549,537 1,382,621 166,916
OANUsSHEHA HI-d 2AB4Z (510
o) 1,249,537 1,182,621 66,916
< 276,173 248,444 27,729
Al 973,364 934,177 39,187
OAMUHA HALH B3 (AXNAE) 300,000 200,000 100,000
2x8Hd |FItEx3 A& 3,400,000 3,200,000 200,000
307 21201 A 3,400,000 3,200,000 200,000
09 2+ AHEXS 3,400,000 3,200,000 200,000
O MEEXY RIEXZ NE 3,400,000 3,200,000 200,000
2=Z8AH MEXNH X2 643,446 491,754 151,692
= 365,477 245,877 119,600
Al 277,969 245,877 32,092
307 glztol & 643,446 491,754 151,692
== 365,477 245,877 119,600
Al 277,969 245,877 32,092
09 2+HAHEXS 643,446 491,754 151,692
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£ 277,969 245,877 32,092
Al 277,969 245,877 32,092
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) 10,560 10,560 0
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70,000 «10H »23] 1,400 0 1,400
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OHAIOIZAEZEER 20,0003 «200CH x6 1 = 24,000 0 24,000
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QUEYRFE A2Zeldl(0larE2) 27,010 27,510 A 500
ZOHAUSEA 29 134,040 136,000 A 1,960
= 39,020 0 39,020
=) 36,310 56,800 A20,490
Al 58,710 79,200 A 20,490
405 TtobFH S| 78,040 80,000 A1,960
= 39,020 0 39,020
& 19,510 40,000 A 20,490
Al 19,510 40,000 A 20,490
01 AL EZFH S 78,040 80,000 A 1,960
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= 39,020 0 39,020
< 19,510 40,000 220,490
Al 19,510 40,000 220,490
LA KT &AL 131,268 131,268 0
307 glztol & 26,268 0 26,268
02 2ItF & E X 26,268 0 26,268
OEAl IIEZ I 2EAMEZ XN (222
ZOHAN BHSHAF) 26,268 0 26,268
402 212t X201 & 105,000 131,268 N 26,268
01 RIZERI 22X 105,000 131,268 A 26,268
OEAl IIEZ NI 2EAMEE XS (24T AE
T2 U5HAE) 0 26,268 A 26,268
QMG Helgt M8 WEEE 7= 3,748,100 3,448,100 300,000
= 125,000 125,000 0
& 1,060,000 1,060,000 0
= 300,000 0 300,000
Al 2,263,100 2,263,100 0
WEANE 29 1,618,100 1,318,100 300,000
= 125,000 125,000 0
= 300,000 0 300,000
Al 1,193,100 1,193,100 0
HEHAIE 22l 320,000 20,000 300,000
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
= 300,000 0 300,000
Al 20,000 20,000 0
401 AIEBIZ 2T 320,000 20,000 300,000
= 300,000 0 300,000
Al 20,000 20,000 0
01 A€ dl 319,784 19,784 300,000
OXNAEHNEZ NEE RAES(FIALEIAE) 319,784 19,784 300,000
= 300,000 0 300,000
Al 19,784 19,784 0
HE2IZH (nsS) 71,924 72,424 A500
Jl=23H(ns) 46,043 46,543 2500
2z (usn) 46,043 46,543 2500
201 LEt2A | 15,543 16,043 2500
01 AP 2teltl 8,936 9,436 A500
Oozgtl(daz2) 8,936 9,436 A 500




